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EXPRESSIONS AND SPECIAL PRODUCTS

1.Add 2x -3y +z,5y-x+7zand 3x -y - 6z.

o Watch Video Solution

2. Subtract 8p-5q + 7r from 5p-9q + 3r.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TeweJ6GhCxnN
https://dl.doubtnut.com/l/_KAx7tfIuHISK

3. What should be subtracted from z° — 7> + 172 + 17 so that the

difference is a multiple of z — 3 ?

o Watch Video Solution

4. Multiply (5 — 3T — 4332) with 2x-3

o Watch Video Solution

5. (a) Expand (x+4) (x+7)

(b) Expand (x+2) (x-5).

o Watch Video Solution

6. Expand (x + 3) (x - 2) (x + 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_M6Eoa96IaOIs
https://dl.doubtnut.com/l/_wqENhELOchRX
https://dl.doubtnut.com/l/_XU6Sng0aco9M
https://dl.doubtnut.com/l/_CUgnwxNSpt5K

7.Expand (3z + 4y)°.

o Watch Video Solution

1 1
8.Ifx+ — = 3, then find the value of 22 + —.
X ;1;2

o Watch Video Solution

9. Expand (8z — 7y)*.

o Watch Video Solution

1 1
10.If z — — = 5, then find the value of 22 + —.
T 22

A 27
B. 28

C.29


https://dl.doubtnut.com/l/_jgng3JIkktkW
https://dl.doubtnut.com/l/_XKWbp5pjSLrX
https://dl.doubtnut.com/l/_hIRsMKAj9Hs4
https://dl.doubtnut.com/l/_s1ogEmrZhY1b

D. 30

Answer: A

o Watch Video Solution

1
i 50
MmIfY + v = - 2 ,then find the value of Y ° — EYTR

o Watch Video Solution

2.0F 2% + 32 = 2 Y
Ifz® + y* = 122y, then find the value of — + —

y?  z?

o Watch Video Solution

13. Simplify (32 + 4y)® + (3¢ — 4y)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_s1ogEmrZhY1b
https://dl.doubtnut.com/l/_uTvDgL8P5pa3
https://dl.doubtnut.com/l/_bdx1tdCS7x98
https://dl.doubtnut.com/l/_9FB7gtvvOSz3
https://dl.doubtnut.com/l/_5MVppAtfxRzv

14. Simplify (112 + 3y)* — (11z — 3y)°.

o Watch Video Solution

15. Simplify (13 — 9y) (13z + 9y).

o Watch Video Solution

16. Factorise 4922 — 1632

o Watch Video Solution

17.(a) Factorise : z° — (z — 5)z — 5z

(b) Factorise: 2% + x — y + y* — 2zy

o Watch Video Solution



https://dl.doubtnut.com/l/_5MVppAtfxRzv
https://dl.doubtnut.com/l/_QZBuZBaF8YoA
https://dl.doubtnut.com/l/_dCAEFEaBwkTd
https://dl.doubtnut.com/l/_n2yEVmVTV2A9

18.(a) Factorise : 92> — 24zy + 16y>

(b) Factorise : 2522 +

52 2

o Watch Video Solution

19. Divide 18z* — 272® + 6z by 3x.

o Watch Video Solution

20. Divide 10z® + 412% — 42 — 15 by 5z + 3.

o Watch Video Solution

21.(a) Find the HCF of 28z* and 70z°.
(b) Find the HCF of 48z%(z +3)’(2z —1)*(z+1) and

60z (z + 3)(2z — 1)*(z + 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_fg9x9ttmtDrg
https://dl.doubtnut.com/l/_jV5a5hxQnPTP
https://dl.doubtnut.com/l/_0VISNcUfC82m
https://dl.doubtnut.com/l/_gYlETcIpTpCl

22. Find the zero of the polynomial 3z 4 5.

o Watch Video Solution

23. Find the perimeter of a rectangle whose length (I) = 15 cm and

breadth (b) =12 cm..

o Watch Video Solution

24, Find the area of the triangle with base (b) = 12 cm and the

corresponding height (h) =8 cm..

o Watch Video Solution

Very Short Answer Type Questions



https://dl.doubtnut.com/l/_gYlETcIpTpCl
https://dl.doubtnut.com/l/_Nrq4eRPW5cv8
https://dl.doubtnut.com/l/_knZncx2AbUif
https://dl.doubtnut.com/l/_HKsfaBvukMX0

1.5x+10y-15z=5(x + 2y - 32)

o Watch Video Solution

2.(x+2)(x-5)=m2—33:—|—10

o Watch Video Solution

3.(a + 2b)° — (a — 2b)* = 8ab

o Watch Video Solution

4.9.2 x 8.8 = 72.96

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9MdK1reuuLX
https://dl.doubtnut.com/l/_oJpRR1hprwJA
https://dl.doubtnut.com/l/_4J3YPExPzhRv
https://dl.doubtnut.com/l/_MrncZgWLCzKu

5. An equation which is true for all real values of its variables is called an

identify .

o Watch Video Solution

6. HCF of 12z%yz and 16zyz? is 4xyz.

o Watch Video Solution

2
T

Y225 - oz

o Watch Video Solution

8.(a>—1)+(a—1)=a+1

o Watch Video Solution



https://dl.doubtnut.com/l/_PLxeZ21XiknP
https://dl.doubtnut.com/l/_waE3pJMLlKGM
https://dl.doubtnut.com/l/_RcX1MZjFoFpc
https://dl.doubtnut.com/l/_OtMdlQpYgii2
https://dl.doubtnut.com/l/_NqiMIjVDDUuV

9.fa+b=6anda® — > = 24 ,thena — b = 4.

o Watch Video Solution

10. The constant term in the product of (52° — 7z + 4) (7z — 8) is 12.

o Watch Video Solution

Fill In The Blanks

1.5z%(z —y) =

o Watch Video Solution

242 — 4z + 1= ( )2

o Watch Video Solution



https://dl.doubtnut.com/l/_NqiMIjVDDUuV
https://dl.doubtnut.com/l/_oVcjMovnlaBl
https://dl.doubtnut.com/l/_l2H2gZ7D5yKw
https://dl.doubtnut.com/l/_tUFEh5Fgg7cb
https://dl.doubtnut.com/l/_ROokpfO9hAuG

3.(x+a)(x+b)=

o Watch Video Solution

4.2 — o =

o Watch Video Solution

5.(a + 3b)° =

o Watch Video Solution

Select The Correct Answer From The Given Options

1 9 1
1.Iflx+— ) =2,thenz” + — =
x 2

A2


https://dl.doubtnut.com/l/_ROokpfO9hAuG
https://dl.doubtnut.com/l/_wyOvk0AuvQtZ
https://dl.doubtnut.com/l/_mKXS7e24ybsJ
https://dl.doubtnut.com/l/_DRyHO7UyprlZ

B.4

C.0

D.3

Answer: A

o Watch Video Solution

A (a — 1)2
B.(a —1)°
Ca’>—1
D. 1
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DRyHO7UyprlZ
https://dl.doubtnut.com/l/_8FMQpK2adGFG

3.(a+b)(vat+ VB (Va—-vB) =

A (a +b)°

B.a> — b?

D. (a — b)?

Answer: B

o Watch Video Solution

4.Ifa=2and b=-1,then a® + b* + 2ab =

A9
B.4
C.2

D.1


https://dl.doubtnut.com/l/_odgVE1rHuf6y
https://dl.doubtnut.com/l/_1etjqrogbWUG

Answer: D

o Watch Video Solution

5.(x+a)(x+b)=

Az’ + (a+b)x + ab
B.z> + (a — b)z + ab
C.z?— (a—b)z+ab

D.z> 4 (a — b)x — ab

Answer: D

o Watch Video Solution

Find The Degree Of The Following Expressions

1. The degree of 422 is


https://dl.doubtnut.com/l/_1etjqrogbWUG
https://dl.doubtnut.com/l/_wXf9GutCuyBG
https://dl.doubtnut.com/l/_kH1MJcevfFbx

A1l

B.2

C.3

D.4

Answer: B

o Watch Video Solution

2.The degree of —3z3 + 5z% + 4 s

Al
B.2
C.3

D.4

Answer: C

| o \Wiakr~h \liAaAA CAliikian


https://dl.doubtnut.com/l/_kH1MJcevfFbx
https://dl.doubtnut.com/l/_GOxVNAfaOidN

| ¢ YVULLll VIMGY JVIVGIVEE

3.The degree of xyz is

Al

B.2

C.3

D.4

Answer: C

o Watch Video Solution

4.The degreeof x +y +zis

Al

B.2

C.3


https://dl.doubtnut.com/l/_GOxVNAfaOidN
https://dl.doubtnut.com/l/_0961IpXo50He
https://dl.doubtnut.com/l/_hVGTVkDtGLhc

D.4

Answer: A

o Watch Video Solution

5.The zeroof x+ 2 is

A O

B.2

D.1

Answer: C

o Watch Video Solution

6. The zero of x-3 is


https://dl.doubtnut.com/l/_hVGTVkDtGLhc
https://dl.doubtnut.com/l/_dZJk9fkGdLl4
https://dl.doubtnut.com/l/_zGMgkDVGcN34

A.O

B.3

D.4

Answer: B

o Watch Video Solution

7.Thezeroof 3x+2is

Answer: C

| o \Wiakr~rh \liAaAaA CAlLiikian


https://dl.doubtnut.com/l/_zGMgkDVGcN34
https://dl.doubtnut.com/l/_2jowkYMHvFEP

| € YVULLll VIMGY JVIVGIVEE

8.The zero of 5x -3 is

A3

N
w| ot o w

o

Answer: C

o Watch Video Solution

9.The expanded form of (x +y) (x-y) is a

A. monomial

B. binomial

C. trinomial


https://dl.doubtnut.com/l/_2jowkYMHvFEP
https://dl.doubtnut.com/l/_Z5nptKVN8z0P
https://dl.doubtnut.com/l/_vyEpH1d6VaWD

D. None of these

Answer: B

o Watch Video Solution

10. Find the degree of (ac2 — ac)2.

A3
B.4
C.5

D.6

Answer: B

o Watch Video Solution

Short Answer Type Questions


https://dl.doubtnut.com/l/_vyEpH1d6VaWD
https://dl.doubtnut.com/l/_7GLMreKwON4J
https://dl.doubtnut.com/l/_lW5zIHaqeKtz

1L1fA=32% + 22 — 7Tand B=7z% — 3z + 4, then find :

A+B

o Watch Video Solution

2.1fA=322 + 22 — TandB=T7z3 — 3z + 4, then find :

A-B

o Watch Video Solution

3.1FA=322 + 22 — Tand B=Tz> — 3z + 4, then find :

2A + 3B

o Watch Video Solution

4.1fA=322 +2x — Tand B=7z% — 3z + 4, then find :

2A - 3B



https://dl.doubtnut.com/l/_lW5zIHaqeKtz
https://dl.doubtnut.com/l/_AEdDG3TmlgcN
https://dl.doubtnut.com/l/_wwaxnziBqih0
https://dl.doubtnut.com/l/_TsNx314yQEYX

| ) Watch Video Solution

5. Find the products for the following :

(3x+2)(x+3)

o Watch Video Solution

6. Find the products for the following :

(x-5) (x + 6)

o Watch Video Solution

7.Find the product of 52> — 7z + 6 and 3x and verify it when x=-2..

o Watch Video Solution

8. Find the product of (3x - 7) (4x + 6) and verify it when x = 1.



https://dl.doubtnut.com/l/_TsNx314yQEYX
https://dl.doubtnut.com/l/_kXllZGjQDCJV
https://dl.doubtnut.com/l/_wJJFdsBtPy4X
https://dl.doubtnut.com/l/_0qBR3Fg34kQT
https://dl.doubtnut.com/l/_MatLgisOfonR

_ o Watch Video Solution

9. By using an appropriate identity , expand the following :

(3z + 4y)”

° Watch Video Solution

10. By using an appropriate identity , expand the following :

2
1

5 -

(a:—l— 5:0)

o Watch Video Solution

11. By using an appropriate identity , expand the following :

(z — 2y)°

° Watch Video Solution



https://dl.doubtnut.com/l/_MatLgisOfonR
https://dl.doubtnut.com/l/_1szqO3uCI43C
https://dl.doubtnut.com/l/_yZhYSmUUIOKT
https://dl.doubtnut.com/l/_ImLnPqZXLzI5

12. By using an appropriate identity , expand the following :

2
3x

o Watch Video Solution

13. By using an appropriate identity , expand the following :

(z + 2y)(z — 2y)

o Watch Video Solution

14.By using an appropriate identity , expand the following :

(z + y)(z — y) (= + ¥°)

o Watch Video Solution

15. By using an appropriate identity, find the following :

(102)


https://dl.doubtnut.com/l/_bXRqH9rdXqy3
https://dl.doubtnut.com/l/_MmySk6vE2ldV
https://dl.doubtnut.com/l/_QBJZQMOVe00o
https://dl.doubtnut.com/l/_6EeDN7mX9wYj

o Watch Video Solution

16. By using an appropriate identity, find the following :

(54)°

o Watch Video Solution

17. By using an appropriate identity , find the following :

(u3)

o Watch Video Solution

18. By using an appropriate identity, find the following :

(95)°

o Watch Video Solution



https://dl.doubtnut.com/l/_6EeDN7mX9wYj
https://dl.doubtnut.com/l/_4lUQzFCUeIEA
https://dl.doubtnut.com/l/_JAU4QcJnSucu
https://dl.doubtnut.com/l/_u96w2GNUzoaR

19. By using an appropriate identity, find the following :

(28)°

o Watch Video Solution

20. By using an appropriate identity, find the following :

(3)

o Watch Video Solution

21. By using an appropriate identity , find the following :

89 x 111

o Watch Video Solution

22.By using an appropriate identity , find the following :

92 x 108


https://dl.doubtnut.com/l/_KsladfuNG6an
https://dl.doubtnut.com/l/_ZGA1IXNWO4h2
https://dl.doubtnut.com/l/_cnZ3ISL7EYZz
https://dl.doubtnut.com/l/_sJKR43kQyaGr

o Watch Video Solution

23. Find the HCF of the following :

262y? 2% and 39z3y%2

o Watch Video Solution

24. Find the HCF of the following :

50 ab and 60 bc

o Watch Video Solution

25. Factorise the following :

z’(z +y) + v’ (z +v)

o Watch Video Solution



https://dl.doubtnut.com/l/_sJKR43kQyaGr
https://dl.doubtnut.com/l/_atkOi2623dcy
https://dl.doubtnut.com/l/_kNdR1mjC4BQK
https://dl.doubtnut.com/l/_j6JnZJzNCkAY

26. Factorise the following :

(3z + 2y)(a — b) + (3z — 2y)(a — b)

o Watch Video Solution

27.Find the value of 994 x 1006 by using an appropriate identity .

o Watch Video Solution

28. Check whether the following are perfect squares or not :
(a) 642 + 81y? — 144xy

(b) 4% + 8y* + 16zy

° Watch Video Solution

29. Divide ? + 6z + 8 by x + 2 and find the quotient .

° Watch Video Solution



https://dl.doubtnut.com/l/_CahW8esi9XAk
https://dl.doubtnut.com/l/_V4SSn06F6h0z
https://dl.doubtnut.com/l/_iWUP9xsosUYm
https://dl.doubtnut.com/l/_9LS52bMSa31x

30. Factorise : a® — ab® + a’b — b°

o Watch Video Solution

31. Find the HCF of 24abc®, 36ab’c, and 48a°be.

o Watch Video Solution

32. Factorise : z* + y4 — 2az2y2

o Watch Video Solution

1 1
33.Ify + — = 4,then find ¢y®> + —
y 2y Y 4y?

o Watch Video Solution



https://dl.doubtnut.com/l/_9LS52bMSa31x
https://dl.doubtnut.com/l/_FKZNQ5vt11yb
https://dl.doubtnut.com/l/_etOBq9qUh9Zb
https://dl.doubtnut.com/l/_ZG2vG5wmfUcs
https://dl.doubtnut.com/l/_zHkQVQAI8yd1
https://dl.doubtnut.com/l/_ZuZacGDMMQjK

1699343
34. Simplify : ‘/Fiq‘i

o Watch Video Solution

2t~y
2

35. Simplify : >
- -y

o Watch Video Solution

Easy Type Questions

1. Find the product of (3a + 4b) and (3a - 4b) and verify it when a =-1and

b=1.

o Watch Video Solution

1 1
2.Ifr + — = 4,then find 22 + — .
2x 42

o Watch Video Solution



https://dl.doubtnut.com/l/_ZuZacGDMMQjK
https://dl.doubtnut.com/l/_qfgCicQgAM3C
https://dl.doubtnut.com/l/_SmH8DvEJXcvs
https://dl.doubtnut.com/l/_dr6ITAwEqK0I

1
3.1f52 — — = 3, then find 252% + —.
2x 42

o Watch Video Solution

1 4 1
4.Ifa + — = 6,then finda™ + —.
a a,4

o Watch Video Solution

5. Divide (a4 — b4) by a - b and find the quotient and remainder .

o Watch Video Solution

6. Divide 42® + 822 — 9z + 6 by 2x + 3 and verify the division rule .

o Watch Video Solution



https://dl.doubtnut.com/l/_dr6ITAwEqK0I
https://dl.doubtnut.com/l/_vL8krr7VMEhD
https://dl.doubtnut.com/l/_sq2mh7Dd55nH
https://dl.doubtnut.com/l/_a7guXp5AtDXu
https://dl.doubtnut.com/l/_rn27iezw0pB8

7.Divide z* + 3 by x + y and verify the division rule .

o Watch Video Solution

8. Factorise the following :

4z® + 8y + 12zy

o Watch Video Solution

9. Factorise the following :

(3z + 2y)* — (5z — 3y)*

o Watch Video Solution

10. Factorise the following :

at—a—a> -1

o Watch Video Solution



https://dl.doubtnut.com/l/_1oED63w3axoT
https://dl.doubtnut.com/l/_3WOiDxmYXTXw
https://dl.doubtnut.com/l/_Lei6vGm3vF6o
https://dl.doubtnut.com/l/_C9O6vrjBsVWv

1 4 1
MNifx — — = 2,then find 2 + —.
X ;134

o Watch Video Solution

1 1
12.1f 36a®> + — = 31, then find the value (s) of 6a — —.
4a? 2a

o Watch Video Solution

13.1f m+ n =14 and mn =48, then find the value (s) of m-n.

o Watch Video Solution

Concept Application Level 1

1. Which of the following pairs is/are like terms ?

(A) x (B)z?


https://dl.doubtnut.com/l/_C9O6vrjBsVWv
https://dl.doubtnut.com/l/_JLQ1SBGyoqG8
https://dl.doubtnut.com/l/_GPwHjBEyd9gk
https://dl.doubtnut.com/l/_adQ3wgYavxex
https://dl.doubtnut.com/l/_L4eNZTWvd5EX

(C)3z>  (D)4z?

A A B
B.B,C
c.Cc,D

D.A,C

Answer: C

o Watch Video Solution

2.Degree of 5’y + 3zyis .

A3

B.2

C.4

D.5


https://dl.doubtnut.com/l/_L4eNZTWvd5EX
https://dl.doubtnut.com/l/_yo0CM3txBr6k

Answer: A

o Watch Video Solution

3.Zero of 3z — B} is

N[ = N~ W | w

Answer: C

o Watch Video Solution

4.1fx,y,and z are variables ,then x+y+zis a

A. monomial


https://dl.doubtnut.com/l/_yo0CM3txBr6k
https://dl.doubtnut.com/l/_e1g0FBICLIjS
https://dl.doubtnut.com/l/_mR3uN1s8vbNJ

B. binomial

C. trinomial

D. None of these

Answer: C

o Watch Video Solution

5. Which of the following is not an identify ?
A.a® + 2ab + b* = (a + b)(a + b)
B. (z —y)2 = 2% — 2zy + °

Clp+adlp—q =0 -¢

D.x+2=3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mR3uN1s8vbNJ
https://dl.doubtnut.com/l/_7JORpEuU45HK

6. The zero of 2x + 3 is

A —2
B.—3

c 3
2

b 2
3
Answer: C

o Watch Video Solution

7.The expanded form of (z + y)* is a

A. monomial
B. binomial
C. trinomial

D. None of these


https://dl.doubtnut.com/l/_6WPLkiqTSTkj
https://dl.doubtnut.com/l/_YRaT3I0WSGB9

Answer: C

o Watch Video Solution

8. | 256a4b4 _
625a2b2
16b
" 25a2
16b
250
4b
25a
4b?
" 25a

Answer: B

o Watch Video Solution

a? — b?

a—>

A.a+b



https://dl.doubtnut.com/l/_YRaT3I0WSGB9
https://dl.doubtnut.com/l/_CNOmlAxwnu4o
https://dl.doubtnut.com/l/_vryT2EKecWwJ

Answer: A

o Watch Video Solution

10. The following steps are involved in expanding (x + 3y)2 . Arrange
them in sequential order from the first to the last .
(A) (z + 3y)2 = 2% + 6zy + 9y°
(8) (z +3y)” = (2)° + 2(2)(3y) + (3y)”
(C) Using the identify (a + b)® = a® + 2ab + b* ,where a =xand b = 3y.
A. ACB
B. CAB

C.CBA

D. ABC


https://dl.doubtnut.com/l/_vryT2EKecWwJ
https://dl.doubtnut.com/l/_GSCfc0vsRkpZ

Answer: C

o Watch Video Solution

11. The following steps are involved in finding the value of (97)2 by using
a suitable identify . Arrange them in sequential order from the first to
the last .

(A) 10000 - 600 + 9 =9409

(B) Using the identify (a — b)2 — a?® — 2ab + b%, wherea=100 and b = 3.
(C) (97)* = (100 — 3)°

(D) (100 — 3)% = (100) — 2(100)(3) + 32

A. CABD
B. CADB
C.CBAD

D. CBDA

Answer: D

f 1


https://dl.doubtnut.com/l/_GSCfc0vsRkpZ
https://dl.doubtnut.com/l/_e0u8oA9scyxF

l o Watch Video Solution

1
12. The following steps are involved in finding the value of a* + —
a

1

when a + — = 1. Arrange them in sequential order from the first to
a

the last .

1 1
(A)a2+—2+2:1:>a2+—2: —1
a a

A. CADBE

B. CDBAE

C. CBADE

D. CEDAB

Answer: A

[ 1


https://dl.doubtnut.com/l/_e0u8oA9scyxF
https://dl.doubtnut.com/l/_LaR60WTASRwf

l @J Watch Video Solution J

13. The following steps are involved in the factorisation of
z?(z — y) + (y — z)y°. Arrange them in sequential order from the first

to the last .

(A) (z — y) [z* — 7]

(B) z’(z — y) — (z — y)y’

© (z —y)*(= + )

D) (z — y)[(z + y)(z — y)]
A. ABDC
B. BADC

C. ABCD

D. CDAB

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LaR60WTASRwf
https://dl.doubtnut.com/l/_muDVBnZ9J8Y4
https://dl.doubtnut.com/l/_2tvGblenDotr

14,
ColumnA

Ifa’? — b*> = 16anda — b = 2,thena + b
The degree of (z — a)(x — b)(x — ¢)(x — d)

422 + 20zy + 2512
(5z% + Tz — 3) — (222 + 8z — 8)

ColumnB

(a)3z? —z — 11
(b)3z2 —x +5

(c)8

(d)4

(e)(4z + by)(x + by)
(f)(2z + 5y)”

o Watch Video Solution

ColumnA
(3z% — 5) — (222 — 5+ 3?)
92 — 169>

15, 2V
s

The degree of (z + 2)(x + 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_2tvGblenDotr
https://dl.doubtnut.com/l/_FPrk7KARaDku

16. Which of the following pairs is/are like terms ?
(A) x (B)z?
(C)32®  (D)4x?®

A.AB

B.B,C

C.CDh

D.AC

Answer: C

o Watch Video Solution

17. Degree of 5%y + 3xyis

A3

B.2


https://dl.doubtnut.com/l/_XoxIegnFKapM
https://dl.doubtnut.com/l/_tYPwIaYTnOAI

C.4

D.5

Answer: A

o Watch Video Solution

18. Zero of 3z — 2 is

w|l—= N~ W | w

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tYPwIaYTnOAI
https://dl.doubtnut.com/l/_gi1VVPPKZysx

19.1f x,y,and z are variables ,then x +y + z is a

A. Monomial
B. Binomial
C. Trinomial

D. None of these

Answer: C

o Watch Video Solution

20. Which of the following is not an identity ?

A.a®> + 2ab + b* = (a + b)(a + b)
B.(z —y)’(p—q) =p* — ¢
Clp+taolp—9q =0 —¢

Dz +2=3


https://dl.doubtnut.com/l/_kxvxoktnIZ8i
https://dl.doubtnut.com/l/_tXcSIfU3Sgk3

Answer: D

o Watch Video Solution

21.The zero of 2x + 3 is

A —2
B.—3

c 3
T2

b 2
-3
Answer: C

o Watch Video Solution

22. The expanded form of (z + y)*is a

A. monomial


https://dl.doubtnut.com/l/_tXcSIfU3Sgk3
https://dl.doubtnut.com/l/_gHxFi2y4qkrp
https://dl.doubtnut.com/l/_2TVMUE4X5EIo

B. binomial
C. trinomial

D. None of these

Answer: C

o Watch Video Solution

| 256a4b*
23. | —— =
625a6b2
16b
A.
25a2

1
" 25a
4b

C. 25—a
v
" 25a

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2TVMUE4X5EIo
https://dl.doubtnut.com/l/_xeiZQOpT1hEW

Answer: A

o Watch Video Solution

25. The following steps are involved in expanding (z + 3y)2 . Arrange
them in sequential order from the first to the last .
2 _ 2 2
(A) (z + 3y)” = z° + 6zy + Yy
®) (z +3y)" = (2)" +2(2)(3y) + (39)°

(C) Using the identify (a + b)2 = a® + 2ab + b* ,where a=xand b = 3y.

A. ACB


https://dl.doubtnut.com/l/_BXzYoWWaf4vy
https://dl.doubtnut.com/l/_ayeSeDf4icpQ

B. CAB

C.CBA

D. ABC

Answer: C

o Watch Video Solution

26. The following steps are involved in finding the value of (97)2 by
using a suitable identify . Arrange them in sequential order from the
first to the last .

(A) 10000 - 600 + 9 = 9409

(B) Using the identify (a — b)® = a® — 2ab + b?, where a =100 and b = 3.
(€) (97)* = (100 — 3)°

(D) (100 — 3)% = (100) — 2(100)(3) + 32

A. CABD

B. CADB


https://dl.doubtnut.com/l/_ayeSeDf4icpQ
https://dl.doubtnut.com/l/_RGcQ287t5jta

C. CBAD

D. CBDA

Answer: D

° Watch Video Solution

1
27. The following steps are involved in finding the value of a* + —
a

1

when a + — = 1. Arrange them in sequential order from the first to
a

the last .

1 1
(A)a2+—2+2:1:>a2+—2: ~1
a a

A. CADBE

B. CDBAE


https://dl.doubtnut.com/l/_RGcQ287t5jta
https://dl.doubtnut.com/l/_adR3e4dcdaaA

C. CBADE

D. CEDAB

Answer: A

° Watch Video Solution

28. The following steps are involved in the factorisation of
z?(z — y) + (y — =)y’ Arrange them in sequential order from the first

to the last .

A (z —y) [2* — o]

(B) z*(z — y) — (z — y)y’
©) (z — y)*(z + y)

(D) (z — y)[(z + y)(z — y)]

A. ABDC
B. BADC

C. ABCD


https://dl.doubtnut.com/l/_adR3e4dcdaaA
https://dl.doubtnut.com/l/_hNfMyTlhj3DJ

D. CDAB

Answer: B

o Watch Video Solution

29. Match Column A with Column B

Colomn A Column B

14. fw® — & =16 and @) da——x— 11
a—=b=2 thena—h

15 The degree of (x — a) b} I —x+5
=B =) v )

6. da= + My + 25¢7 (c] 8

17, (Ba" + T = 3) — () 4

(A" + B — K
(el {4x + Sy
{x = 3yl

{f) {2x + 5y

o Watch Video Solution



https://dl.doubtnut.com/l/_hNfMyTlhj3DJ
https://dl.doubtnut.com/l/_y0pCq6i6SHTt

30. Match Column A with Column B

Column A
18, (3" — 5 -
(2x" = 5+ ¥
19 9t — 16y
1 i
. T
2 :
X = ¥

1. The degree of

fx+2x+ M3

Column B

P = 1
e e
Lkl X ¥ r

by 2

iy (x + 1oy
{9 — lby)

(d} &= p

el |

() (3x + 4yl
Ba -~ 4y

o Watch Video Solution

11fa> — 5> =36anda + b = 4then (a — b)° = .

A.36



https://dl.doubtnut.com/l/_XnV28j8EqD1G
https://dl.doubtnut.com/l/_0g1zW2ojE1yQ

B.9

C.81

D.144

Answer: C

o Watch Video Solution

21fF X=32°+322+3z+3and Y=322—-32+3, then X - Y =

A 3z3
B.3x% + 6z + 6z + 6
C.6z% + 6z +6

D.3z% + 6z

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0g1zW2ojE1yQ
https://dl.doubtnut.com/l/_4unSfufNXkrK

3. The sum of the values of the expression 222 — 2z + 2 when x = -1 and

x=1is

A6

B.8

C.4

D.2

Answer: B

o Watch Video Solution

Y
4.1fX=22%Y = 42 — 6z* , then find the value of 5é when x=1.

A —4

B.2



https://dl.doubtnut.com/l/_4unSfufNXkrK
https://dl.doubtnut.com/l/_kLhtZcNmxavL
https://dl.doubtnut.com/l/_CRaKt1Jxo0Ww

D.3

Answer: C

o Watch Video Solution

1 9 1
5fe + — =6,thenfindz” + — .
X ;132

A. 34
B.36
C.32

D. 38

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CRaKt1Jxo0Ww
https://dl.doubtnut.com/l/_MfhC3g8Ywswx

6.1fx=-2and 2> + y> + 3zy = — 5,thenfindy.

D.9

Answer: B

o Watch Video Solution

7.Number of terms in the expresion (a + b) (c +d) is

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_9smwAAgB8GnB
https://dl.doubtnut.com/l/_OaH3eDvxMdJN

Answer: D

o Watch Video Solution

8.46 x 46 + 54 x 54 4 2 x 46 x 54 =

A. 9996

B. 10004

C. 9800

D. 10000

Answer: D

o Watch Video Solution

0 79?2 — 92
T892 — 92


https://dl.doubtnut.com/l/_OaH3eDvxMdJN
https://dl.doubtnut.com/l/_Gkjn5MJGEbaX
https://dl.doubtnut.com/l/_gPMI8gguVxbw

Answer: D

o Watch Video Solution

144(z — y)?

9z + )"’

- 12(z — y)‘/5
9z + y)°

. 12(z — y)*

c 3(x +y)
Az —y)

D.9(z +y)/12(z — y)

A

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gPMI8gguVxbw
https://dl.doubtnut.com/l/_vzqW4ufgju0Q

M.If A= (3x + 6) and B = 222 + 3z + 4, then the degree of AB is

A4
B.3
C.2

D.1

Answer: B

o Watch Video Solution

12. Find the HCF of 18p%gr, 24pg®r and 27pgr?.

A. 216 pqr
B.3pqr

C. 216(pgr)®


https://dl.doubtnut.com/l/_vzqW4ufgju0Q
https://dl.doubtnut.com/l/_td0TPbEabZVZ
https://dl.doubtnut.com/l/_2QZBUOEBX7Vp

D. 3(pqr)

Answer: B

o Watch Video Solution

13. Find the degree of (m3 — m2)2.

A 12
B. 4
C.6

D.9

Answer: C

o Watch Video Solution

14. The value of 9982 is


https://dl.doubtnut.com/l/_2QZBUOEBX7Vp
https://dl.doubtnut.com/l/_3oPK7NKLxOWZ
https://dl.doubtnut.com/l/_WiJPDWqTPN8h

A. 996064

B. 996004

C. 998004

D. 998064

Answer: B

o Watch Video Solution

15.2% + oyt + 22%y° =

A(z+y)'

Answer: D

| o \Wiakrt~h \liAaAA CAliikian


https://dl.doubtnut.com/l/_WiJPDWqTPN8h
https://dl.doubtnut.com/l/_uPHNJ5eI6e39
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1 1
16.1f 3z + — = 6, then find 922 + —.
xr ;132

A 24
B. 27
C.30

D.33

Answer: C

o Watch Video Solution

17. Which of the following is/are perfect squares ?

A.16a* + 36b> — 48ab
B.9z2 + 18zy + 9y2

C.Both (a) and (b)


https://dl.doubtnut.com/l/_uPHNJ5eI6e39
https://dl.doubtnut.com/l/_1rsOGtaYdGtr
https://dl.doubtnut.com/l/_hgIaTMLGCFbS

D. Neither (a) nor (b)

Answer: C

o Watch Video Solution

18. For what value of K is 16z + 242y + K a perfect square

Answer: A

o Watch Video Solution

19|f2+1—l d?2 ! _ then [ 2
LT 2y 2y—an Y 2y—m, en m- =


https://dl.doubtnut.com/l/_hgIaTMLGCFbS
https://dl.doubtnut.com/l/_y6n5HG35tSIB
https://dl.doubtnut.com/l/_oK0hqH9UiXrJ

A2

B.4

C.6

D.O

Answer: B

o Watch Video Solution

Lifz? — y® = 28 and x +y =7 then (a:—y)2 =

A.8
B.4
C.16

D.12


https://dl.doubtnut.com/l/_oK0hqH9UiXrJ
https://dl.doubtnut.com/l/_fwvi6UEBiLu7

Answer: C

o Watch Video Solution

2. Factorise a* + a’ + a? + a.

Answer: B

o Watch Video Solution

3. Factorise (2a + 3b)° — (3a — 2b)*.

A. (5a + b)(5a — b)


https://dl.doubtnut.com/l/_fwvi6UEBiLu7
https://dl.doubtnut.com/l/_gya6ghgbTssZ
https://dl.doubtnut.com/l/_EXeNA1niSsrk

B. (a + 5b)(a — 5b)
C. (5a + b)(5b — a)

D. (5a + b)(5b + a)

Answer: C

o Watch Video Solution

4. What is the remainder when (2:B3 + 3z + 7) is divided by (x +2) ?

A3
B.9
C.7

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EXeNA1niSsrk
https://dl.doubtnut.com/l/_b4KYUzhBYK67

5.What is the quotient when (z® + 8) is divided by (2> — 2z + 4) ?

Ax— 2
B.x +2
Cz+1

D.x — 1

Answer: B

o Watch Video Solution

6. Which of the following is a perfect square ?

A. 922 + 24zy + 4y°
B. 4z + 12zy + 3y°
C. 25z — 10zy + 4y

D. 2522 — 30zy + 9y>


https://dl.doubtnut.com/l/_lxkP9hVZCnI0
https://dl.doubtnut.com/l/_nSrCIkRTYMBT

Answer: D

o Watch Video Solution

7.ifx+y=7andxy=2,thenz (2) — y* =

A.7/46
B. 7/44
C.7V/41
D. 7/43

Answer: C

o Watch Video Solution

1 1
8.Ifm—|—;:2,then:c100— =

p00 T

A.O



https://dl.doubtnut.com/l/_nSrCIkRTYMBT
https://dl.doubtnut.com/l/_Y9nHFUHfLoq8
https://dl.doubtnut.com/l/_hAsdL7GwrrYM

B.1

C.2

D. 2100

Answer: A

o Watch Video Solution

9. Factorise z° + a’ + 2a + 2z + 2ax.

A(x+a)(x+a+2)

B.(x+a)(x-a-2)

C.(x-a)(x+a+2)

D.(x-a)(x-a+2)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hAsdL7GwrrYM
https://dl.doubtnut.com/l/_mcmwHvSUDwN9

10. For what value of p is 9 2 + 18zy + p a perfect square ?

A 9y2
B. 3y
C. 6y2

D. 4y

Answer: A

o Watch Video Solution

1
M.1f2y + — = 3,then 16y* +
YT 3y T

A. 81
B.79
C.49

D. 47


https://dl.doubtnut.com/l/_mC124hK6TXeq
https://dl.doubtnut.com/l/_sGUjXOBMuw3s

Answer: D

o Watch Video Solution

12.1f 496 x 492 = 2> — 4(x > 0) ,then x =

A. 495
B. 494
C.493

D. 496

Answer: B

o Watch Video Solution

13. Factorise z* + x> + 1.

A.(xz—x—l)(:r2—|-:r—1)


https://dl.doubtnut.com/l/_sGUjXOBMuw3s
https://dl.doubtnut.com/l/_Ag5sVzK25Cwl
https://dl.doubtnut.com/l/_Btkf9CiMtE3T

B.(a:2+a:—|—1)(x2—w—|—1)
C.(a:z—a:+1)(m2+m)

D.(z* +z —1)(z® — 1)

Answer: B

o Watch Video Solution

14.fr + — =aandxz — — = b,thena” — b
T x

A4
B.3
C.2

D.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Btkf9CiMtE3T
https://dl.doubtnut.com/l/_pOzN8NsTINIS

15. Factorise y2 + 2zy + 2xz — 22,

A(z—y+2)(y+2)
B.(z +y+ 2)(y — 2)
C.(y—2)(y+z+2z)

D.(y+ 2)(y — z + 2x)

Answer: D

o Watch Video Solution

16.If A= (z—a)(z—b)(z—c)...... (z — z) , then the number of
terms in the expansion of (a+ A) (b + A) (c+ A) ....(z+ A) is

A1l

B. 27

C. 56


https://dl.doubtnut.com/l/_JOyPr3Xettih
https://dl.doubtnut.com/l/_t437RV46HxXs

D. 54

Answer: A

o Watch Video Solution

17. (42° + 192 + 25) + (22° —z +5) =

A2z -9z +5
B.2¢2 + 9z + 5
C.2:c2—|—:c+5

D.222 —z +5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_t437RV46HxXs
https://dl.doubtnut.com/l/_BJEIkbK7syy7

18.1f P = 8z* + 62® — 1522 + 272 — 20 and Q = 222 + 3z — 4, then find

the remainder when P is divided by Q .

A.O

Answer: A

° Watch Video Solution

19.23 + my2 — :c2y — y3 =
A. (xz + yz) (z +vy)
B. (2% +4°)(z — v)

C.(z —y)(z +y)°



https://dl.doubtnut.com/l/_PghkqMErb5Lw
https://dl.doubtnut.com/l/_YNYOrsrcjxNx

D.(z + y)(z — y)

Answer: B

o Watch Video Solution

1 4 1
20.Ify — — = 3,thenfindy™ + —.
Y yt

A. 119
B. 117
C.123

D. 125

Answer: A

o Watch Video Solution

1
= 20, then 8 — — can be

21. If 642>
Sy iz


https://dl.doubtnut.com/l/_YNYOrsrcjxNx
https://dl.doubtnut.com/l/_2AKQT8UJIDDj
https://dl.doubtnut.com/l/_kDvl9pcyDE6W

A2

B.8

C.1

D.4

Answer: D

o Watch Video Solution

22.Ifp+qg=15and pq=54,thenp-qcanbe___ .

A3

B.5

C.4

D.6

Answer: A

| o \Wiakr~rh \liAaAA CAliikian


https://dl.doubtnut.com/l/_kDvl9pcyDE6W
https://dl.doubtnut.com/l/_hXgUYWJxtdSD
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23.Divide z? + Tz + 12 by x + 3 and find the quotient .

A x+4
B.x —4
C2x +4

D.2z — 4

Answer: A

o Watch Video Solution

24. What should be subtracted from z* + 222 — 3z + 10, so that the

difference is a multiple of z — 27

A.10

B. 20


https://dl.doubtnut.com/l/_hXgUYWJxtdSD
https://dl.doubtnut.com/l/_pwaGOWWAqNxy
https://dl.doubtnut.com/l/_VHDmhSUGvWEX

D.30

Answer: B

o Watch Video Solution

25.If C=(7x + 9) and D = (4:02 + 8 + 5) , then the degree of the
product CD is

A3

B.4

C.2

D.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VHDmhSUGvWEX
https://dl.doubtnut.com/l/_DejssN4fvgSr

Assessment Tests Test 1

1. Factorise a® — 3b* + 3a® — ab?

The following steps are involved in solving the above problem . Arrange
them in sequential order .

(A) (a + 3) (a,2 - b2)

(B) Rearrange the terms as a® + 3a® — 3b? — ab?

Q) a*(a +3) — b*(3+a)

(D) (a + 3)(a + b)(a — b)

A. BCDA
B. BCAD
C.BDCA

D. ABCD

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Dar8AnnGy6j6
https://dl.doubtnut.com/l/_9fJbIMDCn8iV

1
2.The following steps are involved in finding the value of 10§ X 9§ by

using an appropriate indentity . Arrange them in sequential order .

2
(A) (10)* — (%) — 100 —

9
BlO1 92—10 10 —
@03 x93 = (10+ 3 ) (10-5)

(Q)

o) (o 3) -3 -
1

1 8
D) 100 — — = 1— — =99—
(D)100 — 5 =99 +1— & =994
A. BCDA
B. BACD

C. ACBD

D. BCAD

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9fJbIMDCn8iV

3.1f a> 4 16a + k is a perfect square , then find the value of k..

A4
B.16
C.36

D. 64

Answer: D

o Watch Video Solution

1 2013
4.If:1:+;:2,thena: —332012 = .

A2
B.1

C.O


https://dl.doubtnut.com/l/_8Cquatm0QFyz
https://dl.doubtnut.com/l/_rKzSdt5BH5zp

Answer: C

o Watch Video Solution

5. (2x — 6y)*> — (6y + 8z)® =

A. (5x) (3x + 6y)
B. —4(5z)(3z — 6y)
C. —12(5z)(z + 2y)

D. —6(5z)(x — 2y)

Answer: C

o Watch Video Solution

6. The HCF of 64m6y4, 48a:4y8 ,and 54935314 is

A 2x4y4


https://dl.doubtnut.com/l/_rKzSdt5BH5zp
https://dl.doubtnut.com/l/_cQyjgnLWCdRy
https://dl.doubtnut.com/l/_maAR7PusflbK

B. 622y
C. 8w4y4

D. 82y

Answer: A

o Watch Video Solution

7. Factorise 12a°b° — 3ab.
A. 3(a2b2 — 1)
B.3ab(a — b)
C.3ab(2ab + 1)(2ab — 1)

D.3ab(a + 1)(b — 1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_maAR7PusflbK
https://dl.doubtnut.com/l/_1bF0ixFxSv6O

A.a*(a + 1)
B.a(a — 1)
C.a*(a — 1)

D.a*(a + 1)

Answer: C

o Watch Video Solution

1 441
9.If 3x — — = 3, then find the value of 36x—+
2x 422

A9

B. 12

D.6


https://dl.doubtnut.com/l/_i5DQMgEHdbWI
https://dl.doubtnut.com/l/_2X88rAilwI2y

Answer: B

o Watch Video Solution

10. Find the square root of 3% (36)2%(16)” .
A 3377 g2ag2b
B. 376" 4°
C.3°"6%4

D. 3671 6a42b

Answer: A

° Watch Video Solution

1.
LA N S SR AT
1735 "3 5 "1 s



https://dl.doubtnut.com/l/_2X88rAilwI2y
https://dl.doubtnut.com/l/_v0vql4Kv6UiT
https://dl.doubtnut.com/l/_SIb4NnUsqzo1

A —(z' + 9 +27)

60
B. i(:1:4 — y3 + zz)
60
c zt + 9% + 22
) 60
4 3 .2
b, Tt +y A
60
Answer: A

° Watch Video Solution

ColumnA ColumnB
225x2 — 625y = (a)25(z — 2)(z — 2)
. -z —y—y:= (b)25(3z — 5y)(3z + 5y)
-z -y ty= (z+y)(z—y—1)
2522 — 100z + 100 =  (d)(z — y)(z +y — 1)
(

e)(z+y(z+y—1)

o Watch Video Solution

13. Factorise a® — 3b® + 3a®> — ab’

The following steps are involved in solving the above problem . Arrange


https://dl.doubtnut.com/l/_SIb4NnUsqzo1
https://dl.doubtnut.com/l/_kHV3l0F4vqQS
https://dl.doubtnut.com/l/_b5H1dn0fmSWE

them in sequential order .
(A (a + 3) (a2 — b?)
(B) Rearrange the terms as a® + 3a® — 3b? — ab?
Q) a*(a +3) — b*(3+a)
(D) (a + 3)(a + b)(a — b)
A. BCDA
B. BCAD

C.BDCA

D. ABCD

Answer: B

o Watch Video Solution

1 2
14. The following steps are involved in finding the value of 10§ X 95 by

using an appropriate indentity . Arrange them in sequential order .

2
2 1\ 1
(A) (10)2 — (§> =100 -


https://dl.doubtnut.com/l/_b5H1dn0fmSWE
https://dl.doubtnut.com/l/_fsmxPXGaj0Fo

(B) 101 92 10 + . 10 L
— X e — _— —
3 3 3 3

(Q)

1 1 o (1) s o
(10+§)(10—§> = (10) —(5) [~ (a+Db)(a—b) = (a® — )]
D)100 - = — 994+ 1— — — g9
(D) —5— + —5— 5

A. BCDA
B. BACD

C.ACBD

D. BCAD

Answer: D

° Watch Video Solution

15.1f a® 4 16a + k is a perfect square , then find the value of k..

A4

B. 16


https://dl.doubtnut.com/l/_fsmxPXGaj0Fo
https://dl.doubtnut.com/l/_V0z8x48Rvm2d

C.36

D. 64

Answer: D

o Watch Video Solution

1 2013 1
16.Ifa:—|—;:2,then:c —W: .

A2
B.1

C.0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_V0z8x48Rvm2d
https://dl.doubtnut.com/l/_dYHY9HbW2yyu

17.(2z — 6y)® — (6y + 8z)° =
A. (5z)(3z + 6y)
B. —4(5x)(3z — 6y)
C. —12(5z)(z + 2y)

D. —6(5z)(z — 2y)

Answer: C

o Watch Video Solution

18. The HCF of 64x%y*, 48z%y® , and 54z°y? is

A 2m4y4
B. 65(32y2
C. 8:c4y4

D. 8w2y


https://dl.doubtnut.com/l/_dxAdLe4JVRou
https://dl.doubtnut.com/l/_1AKfaoXyMIlB

Answer: A

o Watch Video Solution

19. Factorise 12a%b® — 3ab.
A. 3(0,2b2 — 1)
B.3ab(a — b)
C.3ab(2ab + 1)(2ab — 1)

D.3ab(a + 1)(b — 1)

Answer: C

o Watch Video Solution

20. (a5 — a3) - (a2 + a) =

A.a*(a + 1)


https://dl.doubtnut.com/l/_1AKfaoXyMIlB
https://dl.doubtnut.com/l/_uGgnDmxTNIOi
https://dl.doubtnut.com/l/_jr9LzBFLil1d

B.a(a — 1)
C.a*(a+1)

D.a’*(a + 1)

Answer: C

o Watch Video Solution

36z* + 1

1
21.1f 3x — 9 = 3, then find the value of 102

A.9

B. 12

D.6

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jr9LzBFLil1d
https://dl.doubtnut.com/l/_QJGWe1wIp6zQ

22.Find the square root of 3™ (36)%*(16)" .
A. 3%76(2a)2%
B. 3764
C.3° 64"

D. 3"6%4%0

Answer: A

o Watch Video Solution

23.
E A A S . A
4 3 5 3 5 4 5

A—i(:c4+y3+z2)

60
B i(m‘l y3+22)
60
c,x4+y3+z2



https://dl.doubtnut.com/l/_bG6PsdIqvL6J
https://dl.doubtnut.com/l/_cvWTNuTU6v0w

2

4 3
T+ Yy —
D. Y ‘
60

Answer: A

o Watch Video Solution

24. Match Column A with Column B

Column A Column B
k2. 235x~ — 625y = fa) 23{x — 3}
{x =3
1.'1._1“:—.1.—}'—}-—"= I'l'l]..?f'!l{."'r.l.—zl'r__l
il + Sy)
4. 2 -x—pP +y= le) fx + y)
x—y— 1
15, 357 ~ 1iMlx + 10400 = (d) (x = ¥
X+ ¥ — I
{e) (x + y)
ix+y— 1]

o Watch Video Solution



https://dl.doubtnut.com/l/_cvWTNuTU6v0w
https://dl.doubtnut.com/l/_mjzVab6wMuBQ

25. Factorise 25z — 30zy + 9y°.
The following steps are involved in solving the above problem . Arrange
them in sequential order .
(A) (5z — 3y)° ra? =20+ b = (a— b)2]
(B) (52)* — 30zy + (3y)” = (52)” — 2(52)(3y) + (3y)°
(©) (5z — 3y)(5z — 3y)
A. ABC
B. BCA

C. ACB

D. BAC

Answer: D

o Watch Video Solution

3 1
26. The following steps are involved in finding the value of 1OOZ X QQZ

by using appropriate identify . Arrange them in sequential order .


https://dl.doubtnut.com/l/_LFJX1q33iBex
https://dl.doubtnut.com/l/_pN1imTLncTnf

(A)

(100 + E) <100 - %) = (100)* — (%)2[ " (a+b)(a—Db) =a®— V]

4
(B) 10000 ) = 9999 + 1 0 _ 9999 7
16 16 16
3\ 2 9
2 D— —_— —
(C) (100) <Z> = 10000 o
(D) 1003 991 — (100 5 100 5
7 P =\ g T2
A. DABC
B. DACB
C.DBAC
D. DCAB
Answer: B

° Watch Video Solution

27.1f 2> + 8z + k is a perfect square , then find the value of k .

Al


https://dl.doubtnut.com/l/_pN1imTLncTnf
https://dl.doubtnut.com/l/_Z9e5aFXCJMxs

B.4

C.16

D. 64

Answer: C

o Watch Video Solution

1
xr

A. 4019
B.2
C.0

D.1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Z9e5aFXCJMxs
https://dl.doubtnut.com/l/_JwTolfIgJYWi

29. (3z — 4y)® — (4z + 3y)® =

A (Tz — y)(Ty — z)
B.(z — Ty)(Tz + y)
C.(z + Ty)(Tz — y)

D.(y — Tz)(x + Ty)

Answer: D

o Watch Video Solution

30. The HCF of 44z°y*, 882%y° , and 662 "¢°

A 22:1:4y4
B. 22m5y4
C. 11:1:7y6

D. 442°y*



https://dl.doubtnut.com/l/_30M9oiY7csj3
https://dl.doubtnut.com/l/_lZRFCH7EYbwu

Answer: B

o Watch Video Solution

2

31. Factorise z* + 22 — 2% — 2.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lZRFCH7EYbwu
https://dl.doubtnut.com/l/_EMjeMB6Psi2D
https://dl.doubtnut.com/l/_vuAt3G0kwnCd

B.a—1

Ca+1

D.a’> -1

Answer: B

o Watch Video Solution

1
33.Ifx — 9 = 2 ,then find the value of

A.10
B.14
C.5

D.7

Answer: C

4z* + 1

xr2

o Watch Video Solution



https://dl.doubtnut.com/l/_vuAt3G0kwnCd
https://dl.doubtnut.com/l/_p3u37N0YzM4x

34.Find the square root of 46"2(25)591’4 .
A 45755 30
B. 267 q3 3"
C.2"'523"

D. 437593V

Answer: C

o Watch Video Solution

o B3 @ 3 & 3 B
2 3 4 3 4 2 4 2 3
A a?+ b +c
' 12
a’> +b -
6
c 6a® + 9b? — 12¢°
) 24

b 6a? + 9b° — 12¢3
' 12



https://dl.doubtnut.com/l/_uQYYD0wbHzNO
https://dl.doubtnut.com/l/_K6FB2AIBzcaD

Answer: A

o Watch Video Solution

36. Match Column A with Column B

Colamn A Column B
27. (a+ W = @ix+1Fx—-1)
8. - -x+1= (b {a = b)7 + 4ab
29, (q+ WL — b+ ) = (e) o' + b
|30, (x+ IHat— 1) = () g — 1 (x+ 1)
(e} (' — Y

o Watch Video Solution

Assessment Tests Test 2

1. Factorise 25z — 30zy + 9y

The following steps are involved in solving the above problem . Arrange



https://dl.doubtnut.com/l/_K6FB2AIBzcaD
https://dl.doubtnut.com/l/_7HGaRu75ohBq
https://dl.doubtnut.com/l/_jf2986pyZT8h

them in sequential order .
A 5z — 3y)> | e -2+ = (a— b)z]
(8) (52)" — 30zy + (3y)* = (52)” — 2(52)(3y) + (3y)”
(©) (5z — 3y)(5z — 3y)
A. ABC
B.BCA

C.ACB

D. BAC

Answer: D

° Watch Video Solution

3 1
2. The following steps are involved in finding the value of 1OOZ X 9QZ

by using appropriate identify . Arrange them in sequential order .

(A)

(100 + %) (100 - %) = (100)* — (%)2[ " (a+b)(a—0b) =a® -V


https://dl.doubtnut.com/l/_jf2986pyZT8h
https://dl.doubtnut.com/l/_Ea5yVUHfFtbn

9 9
(B) 10000 — 16 = 9999 + 1 — 16 = 9999E

2
2 3\ 9
(C) (100)* — <Z> — 10000 — —

(D) 100> x 99+ — (100 + é) (100 _ E)
4 4 4 4
A. DABC
B. DACB
C. DBAC

D. DCAB

Answer: B

o Watch Video Solution

3.1f 2% + 8z + k is a perfect square , then find the value of k..

Al
B.4

C.16


https://dl.doubtnut.com/l/_Ea5yVUHfFtbn
https://dl.doubtnut.com/l/_xc7JbqWgHIv3

D. 64

Answer: C

o Watch Video Solution

1
4.1f x + — = 2then 22010 4 22009 _
T

A. 4019
B.2
C.0

D.1

Answer: B

o Watch Video Solution

5.3z —4y)° — (4 +3y)> = .


https://dl.doubtnut.com/l/_xc7JbqWgHIv3
https://dl.doubtnut.com/l/_sgfCNZjMqH8Z
https://dl.doubtnut.com/l/_goNQYfW0WALg

A (7x-y) (7y-x)

B. (x-7y) (7x +y)

C.(x+7y) (7x-y)

D. (y7x) (x + 7y)

Answer: D

o Watch Video Solution

6. The HCF of 442°y*, 8825y° , and 662" y"

A 22m4y4
B. 22m5y4
C. 1lac7y6

D. 44m5y4

Answer: B

| o \Wiakr~h \liAaAaA CAliikian


https://dl.doubtnut.com/l/_goNQYfW0WALg
https://dl.doubtnut.com/l/_sRxINefFrPxs

YVULLIl VIMGY JVIVGIVEE

7. Factorise z* + 23— 22 — .

Answer: B

o Watch Video Solution

8. (a4 — a2) + (a3 + az) = .

A.a2+1
B.a —1

Ca+1


https://dl.doubtnut.com/l/_sRxINefFrPxs
https://dl.doubtnut.com/l/_K6IexIdeVtRi
https://dl.doubtnut.com/l/_DtSYjJjGYbxb

D.a®> —1

Answer: B

o Watch Video Solution

1
9Ifr — o = 2,then find the value of

A.10
B.14
C.5

D.7

Answer: C

4z* + 1

xr2

o Watch Video Solution

a
2

10. Find the square root of 46"2(25) o .



https://dl.doubtnut.com/l/_DtSYjJjGYbxb
https://dl.doubtnut.com/l/_6PPXITo8dMwy
https://dl.doubtnut.com/l/_JjwYsNzH8lHI

A, 437575 3%
B. 26n"53 3"
C. 2653 3"

D. 437593

Answer: C

o Watch Video Solution

c 6a® + 9b3 — 12¢°
) 24

5 6a® + 9% — 12¢3
) 12

Answer: A

l o WAL _ L vl e~


https://dl.doubtnut.com/l/_JjwYsNzH8lHI
https://dl.doubtnut.com/l/_YBtuDu1TVCTY

L vvallil VIiUCO o0IULiVIl

ColumnA

(a +b)* =

222 —zx+1=
(a+b)(a® —ab+b?) =
(z+1)(z? - 1) =

12

ColumnB
(a)(z +1)°(z — 1)
(b)(a — b) + 4ab
@+ 6)

(d)(z — 1)°(z + 1)
(

e)(a* — V)

o Watch Video Solution

1.Add 2x-3y +z,5y-x+ 7z and 3x -y - 6z.

o Watch Video Solution

2. Subtract 8p-5q + 7r from 5p-9q + 3r.

o Watch Video Solution



https://dl.doubtnut.com/l/_YBtuDu1TVCTY
https://dl.doubtnut.com/l/_sHP9D4GRWK7h
https://dl.doubtnut.com/l/_IVqcIpjqEDe1
https://dl.doubtnut.com/l/_77vCkHuSX8Oh

3. What should be subtracted from z° — 7> + 172 + 17 so that the

difference is a multiple of z — 3 ?

o Watch Video Solution

4. Multiply (5 — 3T — 4m2) with 2x-3

o Watch Video Solution

5. (a) Expand (x+4) (x+7)

(b) Expand (x+2) (x-5).

o Watch Video Solution

6. Expand (x + 3) (x - 2) (x + 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_NMjhmnkTuQPa
https://dl.doubtnut.com/l/_BAeQFM46JQQw
https://dl.doubtnut.com/l/_2RU5DUqUdeW8
https://dl.doubtnut.com/l/_0DVfMk0Dgy2u

7.Expand (3z + 4y)°.

o Watch Video Solution

1 1
8.Ifx+ — = 3, then find the value of 2% + —.
X ;1:2

o Watch Video Solution

9. Expand (5z — 9y)*

o Watch Video Solution

1 1
10.If z — — = 5, then find the value of 22 + —.

T 2

o Watch Video Solution

1
M.IfFY + — = — 2, then find the value of Y?° —

Y



https://dl.doubtnut.com/l/_ddn8DCsPnOVI
https://dl.doubtnut.com/l/_eEbSDudzxG0c
https://dl.doubtnut.com/l/_ccwo7FzI6zh7
https://dl.doubtnut.com/l/_6fJVRP0iNlEO
https://dl.doubtnut.com/l/_CLEJUTFM7Ke1

o Watch Video Solution

) ) 2 o
12.1f ° — y* = 122y, then find the value of — + —

y?  z?

o Watch Video Solution

13. simplify (32 + 4y)* + (3¢ — 4y)°.

o Watch Video Solution

14. simplify (11z + 3y)° — (11z — 3y)°.

o Watch Video Solution

15. Simplify: (3z — 7y) (5x + 2y)

o Watch Video Solution



https://dl.doubtnut.com/l/_CLEJUTFM7Ke1
https://dl.doubtnut.com/l/_MbzAPPYLLeVP
https://dl.doubtnut.com/l/_EpnfR4HBO3RT
https://dl.doubtnut.com/l/_VVRMyWHHVGmO
https://dl.doubtnut.com/l/_I9dBm6QVuTpE

16. Factorise 4922 — 16y°.

o Watch Video Solution

17.(a) Factorise : 2 — (z—5)x — bz

(b) Factorise: 2 + . — y + y* — 2zy

o Watch Video Solution

18.(a) Factorise : 92> — 24zy + 16y>

(b) Factorise : 2522 +

2522 2

o Watch Video Solution

19. Divide 182* — 2723 + 62 by 3x.

o Watch Video Solution



https://dl.doubtnut.com/l/_RWlqETWSLIi8
https://dl.doubtnut.com/l/_D0NtiRucHH0U
https://dl.doubtnut.com/l/_a0s64YWwavqs
https://dl.doubtnut.com/l/_C2aPB7tciGQK

20. Divide 102> + 412% — 42 — 15 by 5z + 3.

o Watch Video Solution

21.(a) Find the HCF of 28z* and 70z°.

(b) Find the HCF of 48z%(z +3)’(2z —1)*(z+1) and
603 (2 + 3)(2¢ — 1)%(z + 2).
o Watch Video Solution
22. (a) Find the HCF of 28z* and 70z°.
(b) Find the HCF of 48z%(z +3)%(2z —1)’(z +1) and

602> (z + 3)(2z — 1)*(z + 2).

o Watch Video Solution

23.Find the zero of the polynomial 4z + 7.



https://dl.doubtnut.com/l/_7uK7JqDFUkAk
https://dl.doubtnut.com/l/_ny0UvNpxjWFv
https://dl.doubtnut.com/l/_0yVDCqpLy6FP
https://dl.doubtnut.com/l/_OTMp4xcUNDEm

| o Watch Video Solution

24. Find the perimeter of a rectangle whose length () = 15 cm and

breadth (b) =12 cm..

o Watch Video Solution

25. Find the area of the triangle with base (b) = 12 cm and the

corresponding height (h) =8 cm .

o Watch Video Solution

Test Your Concepts Very Short Answer Type Questions

lLaxb=bxa

o Watch Video Solution



https://dl.doubtnut.com/l/_OTMp4xcUNDEm
https://dl.doubtnut.com/l/_MAgaeWQJ4gZB
https://dl.doubtnut.com/l/_Lff4BTg95K6T
https://dl.doubtnut.com/l/_B2II4xUmjVxe
https://dl.doubtnut.com/l/_Mg92U3xKS6Kl

2. State whether the following statements are true or false.

(z +2)(z —5) = x> — 3z + 10

o Watch Video Solution

3.(a + 2b)° — (a — 2b)*> = 8ab

o Watch Video Solution

4.9.2 x 8.8 = 72.96

o Watch Video Solution

5. An equation which is true for all real values of its variables is called an

identify .

o Watch Video Solution



https://dl.doubtnut.com/l/_Mg92U3xKS6Kl
https://dl.doubtnut.com/l/_4prjPqwI9WOP
https://dl.doubtnut.com/l/_jwG3n2rzlXvo
https://dl.doubtnut.com/l/_RjeTynOCsGYI

6. HCF of 122%yz and 16zyz? is 4xyz.

o Watch Video Solution

2
[ = . —1_-3
7. R =Ty 'z

o Watch Video Solution

8.(a> 1)+ (a—1) = (a—1)(a+2)

o Watch Video Solution

9.fa+b=6anda® — > = 24 ,thena — b = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_rvzUQ8v2XWgv
https://dl.doubtnut.com/l/_LFawgva803RA
https://dl.doubtnut.com/l/_2BHypsXu6nI3
https://dl.doubtnut.com/l/_4ha9TXSgHMpK

10. The constant term in the product of (52° — 7z + 4) (7z — 8) is 12,

o Watch Video Solution

11. Fill in the blanks.

ba’(z — y) =

o Watch Video Solution

12427 — 42 +1 = ( )?

o Watch Video Solution

13. Fill in the blanks.

(z +a)(z + b)=

o Watch Video Solution



https://dl.doubtnut.com/l/_L4pSdJBkGZWk
https://dl.doubtnut.com/l/_Gmu3agsJYs4w
https://dl.doubtnut.com/l/_cshjharqrA7n
https://dl.doubtnut.com/l/_K9rHf1PW5gUq

14. Fill in the blanks.

o Watch Video Solution

15. Fill in the blanks.

o Watch Video Solution

1 1
16. If <a: + —) = ﬁ,then xz 4+ — =
x 22

A5
B.4
C.0

D.3


https://dl.doubtnut.com/l/_qGhs4ue08rAi
https://dl.doubtnut.com/l/_WEYD9M9ZUYkf
https://dl.doubtnut.com/l/_K6gvqzmrSDQE

Answer: A

o Watch Video Solution

17.(a — 1)(a® — 2a+ 1) =

A (a —1)?
B.(a —1)°
Ca?—1
D.1
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_K6gvqzmrSDQE
https://dl.doubtnut.com/l/_72NRf1OBPPRR
https://dl.doubtnut.com/l/_OQhCnJY7ywbt

B.a? — b?
C.1

D. (a — b)?

Answer: B

o Watch Video Solution

19.1f a=3 and b=-2, then a® + b* + 2ab=__

A.9
B. 4
C.2

D.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OQhCnJY7ywbt
https://dl.doubtnut.com/l/_3U1IJ63kVno9

20.(z +a)(z —b) =

A.z? — (a+ b)x + ab
B.z? + (a — b)z + ab
C.z>— (a—b)z + ab

D.z2 4 (a — b)z — ab

Answer: D

o Watch Video Solution

21.The degree of 4z is

A1
B.2
C.3

D.4


https://dl.doubtnut.com/l/_eW0kRSb8sRhC
https://dl.doubtnut.com/l/_sMAGwKtLMXWf

Answer: B

o Watch Video Solution

22.The degree of — 33 + 5z + 41is

Al
B.2
C.3

D.4

Answer: C

o Watch Video Solution

23.The degree of xyz is

Al


https://dl.doubtnut.com/l/_sMAGwKtLMXWf
https://dl.doubtnut.com/l/_ABljkoGFiR28
https://dl.doubtnut.com/l/_3su85LgZ84gp

B.2

C.3

D.4

Answer: C

o Watch Video Solution

24.The degree of x +y + z is

Al
B.2
C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3su85LgZ84gp
https://dl.doubtnut.com/l/_fW36llISA7YH

25.The zeroof x+ 2 is

A.O

B.2

D.1

Answer: C

o Watch Video Solution

26.The zero of x-3 is

A.0

B.3

D.4


https://dl.doubtnut.com/l/_9XpaHp2TI5fA
https://dl.doubtnut.com/l/_VSRdsVUuX9Xo

Answer: B

o Watch Video Solution

27.The zero of 3x + 2 is .

Answer: C

o Watch Video Solution

28.The zero of 12 — 3 is

A3


https://dl.doubtnut.com/l/_VSRdsVUuX9Xo
https://dl.doubtnut.com/l/_BCZV2bfk9w3l
https://dl.doubtnut.com/l/_NyWTLjZkEesC

N

o
W= =

Answer: C

o Watch Video Solution

29.The expanded form of (x +y) (x-y) is a

A. monomial

B. binomial

C. trinomial

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NyWTLjZkEesC
https://dl.doubtnut.com/l/_sIFla9pQUiRb

30. Find the degree of (m2 — m)z.

A3
B.4
C.5

D.6

Answer: B

o Watch Video Solution

Test Your Concepts Short Answer Type Questions

1IfA=32% + 22 — 7Tand B=7z% — 3z + 4, then find :

A-B

o Watch Video Solution



https://dl.doubtnut.com/l/_A04W2Zd9Lbdl
https://dl.doubtnut.com/l/_R711StpXS8o9
https://dl.doubtnut.com/l/_TrJdYzsphir3

2.1fA=322 + 22 — TandB=T7z3 — 3z + 4, then find :

A-B

o Watch Video Solution

3.1fFA=322 + 22 — Tand B=Tz> — 3z + 4, then find :

2A + 3B

o Watch Video Solution

4.1fA=322 +2x — Tand B=7z% — 3z + 4, then find :

2A - 3B

o Watch Video Solution

5. Find the products for the following:

(3z + 2)(z — 3)



https://dl.doubtnut.com/l/_TrJdYzsphir3
https://dl.doubtnut.com/l/_9qL2nPvOCti6
https://dl.doubtnut.com/l/_0K0f6FTjFDhK
https://dl.doubtnut.com/l/_DM9E1cYO6cDO

I & Watch Video Solution

6. Find the products for the following :

(x-5) (x + 6)

o Watch Video Solution

7.Find the product of 52> — 7z + 6 and 3x and verify it when x=-2..

o Watch Video Solution

8.Find the product of (8 — 3)(2z + 5)

o Watch Video Solution

9. By using an appropriate identity , expand the following :

(3z + 4y)*

[


https://dl.doubtnut.com/l/_DM9E1cYO6cDO
https://dl.doubtnut.com/l/_yVELoWDo7ljq
https://dl.doubtnut.com/l/_sKZG178gqd5p
https://dl.doubtnut.com/l/_c0SfdJ6Nfdk4
https://dl.doubtnut.com/l/_RejgLGQz6anD

| @ Watch Video Solution

10. By using an appropriate identity , expand the following :

2
1

5 il

(a:—l— 5:0)

o Watch Video Solution

11. By using an appropriate identity , expand the following :

(z — 2y)°

o Watch Video Solution

12. By using an appropriate identity, expand the following:

G2

° Watch Video Solution



https://dl.doubtnut.com/l/_RejgLGQz6anD
https://dl.doubtnut.com/l/_0TyUFzUK0ai3
https://dl.doubtnut.com/l/_wRbZT0N6Fxhx
https://dl.doubtnut.com/l/_oJqVifHNJci0

13. By using an appropriate identity , expand the following :

(z + 2y)(z — 2y)

o Watch Video Solution

14. By using an appropriate identity , expand the following :

(z +y)(z —y)(z* + ¥

o Watch Video Solution

15. By using an appropriate identity, find the following :

(102)*

° Watch Video Solution

16. By using an appropriate identity, find the following :

(54)°



https://dl.doubtnut.com/l/_y1D2G5XrpGlb
https://dl.doubtnut.com/l/_leYR05YKdjuX
https://dl.doubtnut.com/l/_GekX3956pKPt
https://dl.doubtnut.com/l/_2G97aAi8G0iK

| o Watch Video Solution

17. By using an appropriate identity , find the following :

(o2

o Watch Video Solution

18. By using an appropriate identity, find the following :

(95)*

o Watch Video Solution

19. By using an appropriate identity, find the following :

(28)*

o Watch Video Solution



https://dl.doubtnut.com/l/_2G97aAi8G0iK
https://dl.doubtnut.com/l/_s8nv2ObNn5Vv
https://dl.doubtnut.com/l/_4LuitRMLoCWG
https://dl.doubtnut.com/l/_KpYShxFe2gN4

20. By using an appropriate identity, find the following :

(3)

o Watch Video Solution

21. By using an appropriate identity , find the following :

89 x 111

o Watch Video Solution

22.By using an appropriate identity, find the following:

37 x 43

o Watch Video Solution

23. Find the HCF of the following :

262y? 2% and 39z3y%2


https://dl.doubtnut.com/l/_N7JdY7jC7HYj
https://dl.doubtnut.com/l/_9l1vImihLla2
https://dl.doubtnut.com/l/_0h7q8dtbiv1f
https://dl.doubtnut.com/l/_4hdixDTUwIix

o Watch Video Solution

24. Find the HCF of the following :

50 ab and 60 bc

o Watch Video Solution

25. Factorise the following :

z’(z +y) + ¥’ (z + y)

o Watch Video Solution

26. Factorise the following :

(3z + 2y)(a — b) + (3z — 2y)(a — b)

A —6z(a —b)

B.6x(a + b)


https://dl.doubtnut.com/l/_4hdixDTUwIix
https://dl.doubtnut.com/l/_RP4DH9gc0opu
https://dl.doubtnut.com/l/_x8cRzsMI10Sr
https://dl.doubtnut.com/l/_5FayI0N1D3gC

C.6z(a —b)

D. none of the above

Answer: C

o Watch Video Solution

27.Find the value of 994 x 1006 by using an appropriate identity .

o Watch Video Solution

28. Check whether the following are perfect squares or not :
(a) 64x> + 81y? — 144zy

(b) 4% + 8y* + 16zy

o Watch Video Solution



https://dl.doubtnut.com/l/_5FayI0N1D3gC
https://dl.doubtnut.com/l/_8AmaCtUfGoTX
https://dl.doubtnut.com/l/_UcaePgPWSVVj

29. Check whether the following are perfect squares or not :
(a) 64z + 81y* — 144xy

(b) 4% + 8y* + 16zy

o Watch Video Solution

30. Divide z® + 6z + 8 by x + 2 and find the quotient .

o Watch Video Solution

31. Factorise : a®> — ab® + a’b — b°

o Watch Video Solution

32. Find the HCF of 24abc®, 36ab’c, and 48a3be.

o Watch Video Solution



https://dl.doubtnut.com/l/_Gppd76pMnxcY
https://dl.doubtnut.com/l/_RsKYcI0ihq5N
https://dl.doubtnut.com/l/_1WwskkCSGCZ4
https://dl.doubtnut.com/l/_4Clc4yA6luw1

33. Factorise : z* + y4 — 2ar:2y2

o Watch Video Solution

1 1
34.1fy + — = 4,then ind y> + —
y 2y Y 4y?

o Watch Video Solution

169p°¢>
35. Simplify : ‘/%

o Watch Video Solution

2 2

e 927 — 4y
36. Slmp|lfy: ﬁ
L Y

o Watch Video Solution



https://dl.doubtnut.com/l/_XpxcPegkFkl0
https://dl.doubtnut.com/l/_DhUpHCEb6PL6
https://dl.doubtnut.com/l/_84FaTxhYv1Ab
https://dl.doubtnut.com/l/_MxwuWkTOgQD2

Test Your Concepts Essay Type Quesions

1. Find the product of (3a + 4b) and (3a - 4b) and verify it when a =-1and

b=1.

o Watch Video Solution

23 1% thenfnd 22 L 2B
g Ty T mtenind o T e

o Watch Video Solution

1 2
3.|f5(13 — % = 3,then ﬁnd 25$ + 4_x2

o Watch Video Solution

1 4 1
4.Ifa + — = 6,then find a + —-
a a

o Watch Video Solution



https://dl.doubtnut.com/l/_3AeRtM5Y8Tam
https://dl.doubtnut.com/l/_i4k1pEoBEQDy
https://dl.doubtnut.com/l/_YmxQhbLYCNJT
https://dl.doubtnut.com/l/_wJ6OLfBfwKEY

5.Divide (a4 — b4) by a - b and find the quotient and remainder .

o Watch Video Solution

6. Divide 42® + 822 — 9z + 6 by 2x + 3 and verify the division rule .

o Watch Video Solution

7.Divide z® + 3 by x + y and verify the division rule .

o Watch Video Solution

8. Factorise the following :

4x® + 8y + 12zy

o Watch Video Solution



https://dl.doubtnut.com/l/_wJ6OLfBfwKEY
https://dl.doubtnut.com/l/_PLz490suHfrl
https://dl.doubtnut.com/l/_xi2Q4X0xm8UJ
https://dl.doubtnut.com/l/_wdJhQe3kCzYZ
https://dl.doubtnut.com/l/_Rc81D2VPmaUV

9. Factorise the following :

(3z + 2y)° — (52 — 3y)°

o Watch Video Solution

10. Factorise the following :

at—a—-a>-1

o Watch Video Solution

1 4 1
Mifz — — =2,thenfindz® + —.
T 4

o Watch Video Solution

1 1
12.1f 36a®> + — = 31, then find the value (s) of 6a — —.
4q2 2a

o Watch Video Solution



https://dl.doubtnut.com/l/_hQxtvH2Uam4K
https://dl.doubtnut.com/l/_tRF3Uof0th7f
https://dl.doubtnut.com/l/_17pzzmlQon96
https://dl.doubtnut.com/l/_0V2qPMDuDjB1

13.1f m + n =14 and mn =48, then find the value (s) of m-n.

o Watch Video Solution

Concept Application Level 2

LIfa® —b® = 36anda + b = 4 then (a — b)* = .

A.36

B.9

C.81

D. 144

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gQwDgZE2eZxo
https://dl.doubtnut.com/l/_PhnSY4XFLYDv

21fF X=322+322+3z+3and Y =322—-3z+3, then X - Y =

A 3z°
B.3z° + 62> + 6z + 6
C.6z% + 6z + 6

D.3z% + 6z

Answer: D

° Watch Video Solution

3. The sum of the values of the expression 222 — 2z + 2 when x = -1 and

x=1is

A.6

B.8


https://dl.doubtnut.com/l/_okG3uM1ay6Zy
https://dl.doubtnut.com/l/_1qsOUanruDO0

C.4

D.2

Answer: B

o Watch Video Solution

Y
41X =202 = 45 — 6z, then find the value of 5é when x=1.

A —4

B.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1qsOUanruDO0
https://dl.doubtnut.com/l/_GP1Dq2EIOtzy

1 9 1
5Ifx + — =6,then find z° + — .
x xz

A. 34
B.36
C.32

D. 38

Answer: A

o Watch Video Solution

6.1fx=-2and 22 + y* + 3zy = — 5,thenfindy.
A —2
B.3
C.—4

D.9


https://dl.doubtnut.com/l/_Bk2Gyg1aTXHy
https://dl.doubtnut.com/l/_69T6SeERLZ7i

Answer: B

o Watch Video Solution

7.Number of terms in the expresion (a + b) (c +d) is

A1l

B.2

C.3

D.4

Answer: D

o Watch Video Solution

8.46 x 46 + 54 x 54 4 2 X 46 X 54 =

A. 9996


https://dl.doubtnut.com/l/_69T6SeERLZ7i
https://dl.doubtnut.com/l/_wVDwUtVIDcMZ
https://dl.doubtnut.com/l/_IqY4iHr3HjwV

B. 10004

C. 9800

D. 10000

Answer: B

o Watch Video Solution

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IqY4iHr3HjwV
https://dl.doubtnut.com/l/_KJjN5Knu06px

144(z — y)?

9z +y)

12(z — )V
: 9(z + y)
12(z — y)°
3(x + y)
4(z — y)

D.9(z +y)/12(z — y)

A

Answer: C

o Watch Video Solution

M.IfA=(3x + 6) and B = 22> + 3z + 4, then the degreeof ABis ___

A4

B.3

C.2


https://dl.doubtnut.com/l/_d7wefXXIeVAd
https://dl.doubtnut.com/l/_00GfdR5h2OOK

D.1

Answer: B

o Watch Video Solution

12. Find the HCF of 18p®qr, 24pg®r and 27pgr?.

A. 216pgr
B.3pqr
C. 216(pgr)*

D. 3(pgr)’

Answer: B

o Watch Video Solution

13. Find the degree of (x?’ — x2)2.


https://dl.doubtnut.com/l/_00GfdR5h2OOK
https://dl.doubtnut.com/l/_LsoiIKE5xCt6
https://dl.doubtnut.com/l/_aKvQKZFSn7d9

A 12

B.4

C.6

D.9

Answer: C

o Watch Video Solution

14. The value of 9982 is

A. 996064

B. 996004

C. 998004

D. 998064

Answer: B

| o \Wiakt~h \liAaAaA CAlLiikian


https://dl.doubtnut.com/l/_aKvQKZFSn7d9
https://dl.doubtnut.com/l/_2jBP6EHhFKRm

| ¢ YVULLIl VIMGY JVIVGIVEE

15. 2% + y4 + 22%y? =

A (z +y)*
B. (a:2 - y2
C. (xz + y2) (wz _ y2)

D. (:132 + y2)2

Answer: D

o Watch Video Solution

1 1
16.1f 3z + — = 6, then find 922 + —.
i a;2

A 24
B. 27

C.30


https://dl.doubtnut.com/l/_2jBP6EHhFKRm
https://dl.doubtnut.com/l/_CPI030KbM8nD
https://dl.doubtnut.com/l/_zx9aZvLGrFH0

D.33

Answer: C

o Watch Video Solution

17. Which of the following is/are perfect squares ?

A.16a> + 36b> — 48ab
B.9z2 + 18zy + 9y2
C.Both (a) and (b)

D. Neither (a) nor (b)

Answer: C

o Watch Video Solution

18. For what value of K is 1622 + 24zy + K a perfect square


https://dl.doubtnut.com/l/_zx9aZvLGrFH0
https://dl.doubtnut.com/l/_irzmjUBITXCY
https://dl.doubtnut.com/l/_0aGGS1KGGCbi

Answer: A

o Watch Video Solution

19|f2+1—l d?2 ! _ then [2 2 —
LT 2y 2y—an Y 2y—m, en m° =

A2
B.4
C.6

D.O

Answer: A::B

| o \Wiakt~h \liAaAA CAliikian


https://dl.doubtnut.com/l/_0aGGS1KGGCbi
https://dl.doubtnut.com/l/_I0hmlZ0WxAQC

\ YVULLll VIMGY JVIVGIVEE

Concept Application Level 3

LIfz? — o2 = 28 and x + y=7 then (x—y)2 =

A.8
B.4
C.16

D.12

Answer: C

o Watch Video Solution

2. Factorise a* + a’ + a? + a.

A (a+1)(a®> +1)(a—1)


https://dl.doubtnut.com/l/_I0hmlZ0WxAQC
https://dl.doubtnut.com/l/_Dc4hpUkjL76D
https://dl.doubtnut.com/l/_wAudJeC1EIWV

Answer: B

o Watch Video Solution

3. Factorise (2a + 3b)° — (3a — 2b)*.

A. (5a + b)(5a — b)
B. (a + 5b)(a — 5b)
C. (5a + b)(5b — a)

D. (5a + b)(5b + a)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wAudJeC1EIWV
https://dl.doubtnut.com/l/_Q6VHYwsLXx0S

4.What is the remainder when (2z® + 3z + 7) is divided by (x + 2) ?

A3
B.9
C.7

D.5

Answer: B

o Watch Video Solution

5. What is the quotient when (ac3 + 8) is divided by (x2 — 2z + 4) ?

Ax—2
B.x +2
Czx—+1

D.x —1


https://dl.doubtnut.com/l/_kRGtH8iQ227P
https://dl.doubtnut.com/l/_vycdgBajQoqX

Answer: B

o Watch Video Solution

6. Which of the following is a perfect square ?

A. 922 + 24zy + 4y°
B. 4z + 12zy + 3y°
C. 2522 — 10zy + 4y>

D. 252> — 30zy + 9y>

Answer: D

o Watch Video Solution

7.ifx+y=7and xy=2,then 2> — ¢* =

o Watch Video Solution



https://dl.doubtnut.com/l/_vycdgBajQoqX
https://dl.doubtnut.com/l/_Oly65wzZyUNc
https://dl.doubtnut.com/l/_hBkxfiSDGNuD

1

— s
2100

1
8.32.If ¢z + = — 2then 2% —

o Watch Video Solution

1 100 1
9.Ifa:+;—2,thenx —m— .

A.O
B.1
C.2

D. 2100

Answer: A

o Watch Video Solution

10. For what value of p is 9 > + 18zy + p a perfect square ?

A. 9>


https://dl.doubtnut.com/l/_XoItGY87TE60
https://dl.doubtnut.com/l/_bhn5CyquCgeW
https://dl.doubtnut.com/l/_0S62PopoksjW

Answer: A

o Watch Video Solution

1 4 1
11.If2y—|—2—y=3,then16y + =

16yt

A. 81

B.79

C.49

D. 47

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0S62PopoksjW
https://dl.doubtnut.com/l/_U1U5k66llJMl

12.1f 496 x 492 = 2> — 4(x > 0) ,then x =

A. 495
B. 494
C. 493

D. 496

Answer: B

o Watch Video Solution

13. Factorise z* + x> + 1.

A.(:c2—:c—1)(a:2+x—1)
B.(w2+w—|—1)(:p2—m—|—1)
C.(:c2—:c—|—1)(x2+x)

D.(w2+w—1)(m2—1)


https://dl.doubtnut.com/l/_HCA3MebwLalb
https://dl.doubtnut.com/l/_EfT95vtBE8Nt

Answer: B

o Watch Video Solution

1 1
4.fxr +— =aandz — — = b,thena® — b* =
T x

A4
B.3
C.2

D.1

Answer: A

o Watch Video Solution

15. Factorise y2 + 22y + 22 — 2%,

A(z—y+2)(y+2)


https://dl.doubtnut.com/l/_EfT95vtBE8Nt
https://dl.doubtnut.com/l/_PCjvaTqgBBUn
https://dl.doubtnut.com/l/_ZbnhjWhdtCj9

B.(z +y+ 2)(y — 2)
C.(y—2)(y+z+2x)

D.(y + 2)(y — z + 2x)

Answer: D

o Watch Video Solution

16.If A= (z—a)(z—b)(x—c)...... (z — z) , then the number of
terms in the expansion of (a+ A) (b + A) (c+ A) ....(z+ A) is

A1l

B. 27

C.56

D. 54

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZbnhjWhdtCj9
https://dl.doubtnut.com/l/_Rlw7soeXsMig

17. (4z* + 192% + 25) + (22° —x +5) =

A2x2 -9z +5
B.22°> + 9z + 5
C22°+z+5

D.2z2 —z +5

Answer: C

° Watch Video Solution

18.1f P = 8z* + 62° — 1522 + 27z — 20 and Q = 222 + 3z — 4, then find

the remainder when P is divided by Q .

A.O



https://dl.doubtnut.com/l/_Rlw7soeXsMig
https://dl.doubtnut.com/l/_H61BSZgcp20q
https://dl.doubtnut.com/l/_mGGTORTsX2O9

Answer: A

o Watch Video Solution

19. Factorize: 23 + my2 . y2 =

A. (x2 + yz) (z +vy)
B. (z° +y*)(z — 1)
C(z—y)(z+y)°

D. (z + y)(z — y)°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mGGTORTsX2O9
https://dl.doubtnut.com/l/_gwTjM8Rlm2bH

1 4 1
20.Ify — — = 3,thenfindy™ + —.
Yy yt

A. 119
B. 117
C.123

D. 125

Answer: A

o Watch Video Solution

21.1f 6422 + = 20, then 8x — i can be
62 4
A2
B.8
C.1

D.4


https://dl.doubtnut.com/l/_7SSSTHZeBhaP
https://dl.doubtnut.com/l/_eDjFdhw83gbP

Answer: D

o Watch Video Solution

22.If p+qg=15and pq =54, then p -q can be .

A3
B.5
C.4

D.6

Answer: A

o Watch Video Solution

23.Divide 2z + 3z + 4 by = + 1 and find the quotient.

A2r +1


https://dl.doubtnut.com/l/_eDjFdhw83gbP
https://dl.doubtnut.com/l/_7ruOdmcpbChy
https://dl.doubtnut.com/l/_pBJIZy4iwdGq

B.x—4

C.2x+4

D.2z — 4

Answer: A

o Watch Video Solution

24. What should be subtracted from z% + 222 — 3z + 10 , so that the

difference is a multiple of z — 27

o Watch Video Solution

25.1f C=(7x + 9) and D = (4x2 + 8x + 5) , then the degree of the

product CD is

A3

B.4


https://dl.doubtnut.com/l/_pBJIZy4iwdGq
https://dl.doubtnut.com/l/_CBNTn5FKvAHF
https://dl.doubtnut.com/l/_Hl3TOeVB7fLF

C.2

D.1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Hl3TOeVB7fLF

